Prime factorization of the first 1000 integers

101
106

11e
121
126
131
136
141
1l4¢
151

=2lg3l
= 7113l

= 4

101t

2lg3l
337t
2220t

olz271
1311
23171
3lg71
2173l
1511
223l 131
7lo3l
2lgal
3219t
24111
1811
2l3lagl
1911

&

DWW NN BN

~

2 =
187 =
192 =
197 =

=2l
=71

=17t
—olqql
=33
=25
=37t

— olglogl
= 47!

= 22131
= 3l19t
=2tz
=g/t

_ 0332
_7l1ql
= 2lagl
= 3l29t
= 2223t
=gyl

=2l3l171
107 =
112 =
17 =
122 =
127 =
132 =
137 =
142 =
147 =
152 =
157 =
162 =
167 =
172 =
177 =

107t
2471
32131
2lgl
1274
2231 141
1374
2l711
372
2319t
1574
2l34
167t
22431
3l59l
2l7l 131
111171
o€zl
197t

3=3t
g =23

13
18
23
28
33
38
43
48
53

58
&3
a8
73

78
83

838

=13t
=23t
=2lig
=431
=243l
=531

= 2logl
= 3271
= 22171
=731
=2l3l3l
=83l
=23111
=3l31!
=2l72

= 103!
— 2233

= 2l59l
= 3la1!

= 7t19t

= 2l3loat
= 11t13!
= 2237}

= 3217}

= 2l79t

= 163t

— 033171
= 1731

= 2lgot
—3lgl

= 22471

= 193!
—ol32qq1

p.-1

14 =
19 =
24 =
29 =
34 =
39 =
44 =
49 =
4 =
59 =

69 =
74 =
79 =
84 =
89 =

99 =

2ot
2l171
3113l
22 JJ_l
5133

<

59t

= 06

3123l
olz7l

223171
got
2lg7l
32111

= 23131
= 109t
=2l3l 1ol
= 71171
= 22311
= 3143l
=2lgt
= 139t
= 2432
= 149!
= 3ls3t
= 22411

= 2lzlogl
=179

= 23231
=2lg7l

= 199"

= 5t13l
_olglgl
_ 3ls2

_ 45l

= sti7!

95 = 5l198

100

105

115
120
125
130
135
140
145
150
155
1a0
15
170
175
180
185
1°0
195
200

_ 2252

—3lglqgl

21 51 JJ_l
5123l

= 23315l

_olglqsl

385l
525191
5logl

= 21 31 52

5131l
2551

— 31 51 JJ_l
=2lgl 171

5271

= 2232¢gl

51371
2lsl 1ol

_ 3lslqal
_ o352
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N[&%%
= o

e}
o

301
306
311
31le
321
326
331
336
341
346
351
356
3el
366
371
376
381
386
391
3%

et
21103t
o111
2333
13117
21113t
71l
2250l
241l
213l 491
2511

3220t
2l7l19t
2711
223l 23l
og1l
2l1ql 13l
o7l
23371

71431
21324971
311!
2279l
31107t
2l1e3t
3311
243l 7l
11i31d
2l173!
3813t
22gol
192

olal gl
71531
23471
3lio7d
2liol
17423t
2232111

272
277
282
287
292
297

302
307
312
317
322
327
332
337
342
347
352
357
3e2
367
372
377
382
387
392
397

= 211011
= 32231

= 22531

= 7131t
=2l3la7l
= 2271

= 2329l

= 3179
=2l112

= 13119t
— 22 32 7l
= 2571
=2l1311
= 3lggl
=24171
=277
=2l3lg7l
= 71a1!

= 2273l
=3%11!

= 2151t

3071
2331131
317t
2l7lo3l
31109
22g3l
337L
2132 14l
347L
25111
37li7d
2l1g1!
367t
2231371
1329t
2ligil
32431
2372

= 3971

203
208
213
218
223
228
233
238
243
248
253
258

3080

DN DN D)D)

283
288

298

303
308
313
318
323
328
333
338
343
348
353
358
363
368
373
378
383
388
393
398

= 7t2gt

= 24131
=3t71l

= 2lipgt
= 2231

= 223119t
= 233t

= 2t7l17t

= 23311

= 11123t
=2l3lg3l
= 2631
=22¢g71
=317113d
=2l139!
= 2831

= 2532
=293l

= 2l149!

= 3t101d
=2271141
= 313!
=2l3ls3l
= 17119
= 23411

= 132371
=2l132

= 223t 29!
= 3531
=2l179
=31112

= 24231

= 3738

_ ol33ql
= 383!
=3l1311
= 2l199

p.-2

304 =
309 =
314 =
319 =
324 =
329 =
334 =
339 =
344 =
349 =
354 =
359 =
3¢ =
369 =
374 =
379 =
384 =
389 =
394 =
=3l7l1dt

399

= 243t17t
= 11t1ot
= 217t
= 3t73t

— o571

= 229t

= 213213!
= 239
_o2gl

= 3lg3t

= 2l127!
= 7137t

— 2331141
= 269!

= 2liz7t
= 3231}

= 2271}

= 17°

= 2l3l72
= 13%23!

24719t
31103t
211571
1129t
2234
71471
2lig7t
31113t
23431
3498
2l3lggl
3598
2271 131
32411
ol1ql 171
379t
273l
3ggt
2lig7l

270
275
280
285
290
295

300 =

370
375
380
385
390
395
400

— 5J. 4lJ_

5143t
2ist23t
5t47!
045l 51
3lsla7t
225113t
5153t
3isliot
2lslogt
5159t

— 5]. 61].

2lglagl
325171
265l

52131
2izlslgql
sl

225l 171
3ls5lo3l
2lg5271
51711
23325l
5173l

2lgl 37l
3153

225l 191
sl7l 941
2l3lslygl
5l7gl

= 2452
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501 =

S0e
511
Sle
521
526
531
536
541
546
551
556
S5el
5ee
571
576
581
386
591

5% =

= 401t

2l7l o0l
3137
2513t
4211
2lzlyql
4311
22109t
3272
2loo3l
11141l
233l 191
ge1l
21233l
311571
2271 171
13137
2135
4911

= 24311

402 =
407 =
412 =
417 =
422 =
427 =
432 =
437 =
442 =
447 =
452 =
457 =
4c2 =
467 =
472 =
477 =
482 =
487 =
492 =
49] =

502
507
512
517
522
527
532
537
542
547
552
557
5e2
567
572
577
582
587
592
597

ol3l gyt
11i37
22103
31139
2l2191

7L et
2433
19t23!
2li3lq7d
3lia9t
221131
4571
2iglylgql
a7t
2359l
3253l
2log9l
ag7t
223l 471
71711

= 2los1d
= 31132

= 11la7!
=2l32z9l
= 17t31d
=227l 191
=3l179t
=2lo71d
= 5471

= 233l23l
= 5571

= 2loggl
= 23471

= 22111 13!
= 5771
=2l3lgypl
= 5871

= 24371
=3lig9t

403
408
413
418
423
428
433
438
443
448
453
458
463
463
473
478
483
488
493
48

503
508
313
518
523
528
533
538
543
548
553
558
563
568
573
578
383
388
593
58

p.-3

= 13t31t

233l 171
71598
2l11l 19t
32471
22107t
4331
2l3l73l
443!
2671
3lis51d
2loogl
ae3l
2232131
11ia3!
2lo3gl
3l7l23l
231l
17129t
2l3lgal

= 503¢

= 221271
=331
=2l7l37L
= 5231
=243l 144
= 13141!
= 2logol
=3l1g1!
= 221371
= 7179t
=2l32311
= 5631

= 23711
=3l191!
=2l172

= 111531

= 5931
=2l13l23l

404 =
= 409t

409

414 =
419 =
= 23531

424

429 =
434 =
= 439

439

444 =
449 =
454 =
459 =
464 =
469 =
= 2lzl7dl

474

479 =
484 =
489 =
494 =
499 =

504
309
514
519
524
529
534
539
544

554
559
5c4
569
574

584
589
594

599 =

24101t

2l32931
419t

311t 13t
ol7l 311

2231371
449!
210071
33171
2429l
7Lt

a79t
22112
3ligat
2li3l 1ol
4991

= 233271
= 509t
=2log7l
=3l173L
= 221311
= 232
=2l3lgdl
= 72111

= 25171
549 =
= 2lo77t
= 13143!
= 2231471
= 569t
=2l7l 441
579 =
= 23731

= 19t31d
=21331q

332el

3yl

5991

405
410
415
420
425
430
435
440
445
450
455
4a0
465
470
475
480
485
40
495
500

570
575
580
385
390
395
a0

= 3451.

2lgl g7l
5ig3l
223l 5171
52171
2l5l 431
3l5logl
235l 111
slggl
2132 52
sl7l43l
225l o3l
3ls5l31d
2lsl 471
52191
253l sl
5lo7l
2lsl 72
325l 191

= 2253

— 5]. lDlJ.

2lalglygl
5li03t
235l 131
315291
2lg5l 53l
5l107t
22335l
51109t
2152191
3ls5la37l
245l 71
51113t
2lzlgligl
52231

225l o0l
3251131
2lslsgl

=5t7l171
= 233l52
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a1l =

203

Elé6
621
626
&3l
636
c41
c46
651
656
6el
666

701 =

706
711
716
721
726
731
736
741
746
751
756
7el
zs
771
776
781
786
791
796

a1t

2l3l 107l
13147
2371 111
3823l
21313l
&1t

223l 531
el
2li7l 19t
3171311
24411
ee1l
2l32371
11led
22132
31227l
2173

go1t

=233l 29t

701t
213531
32791
221798
71103
2l3l 142
17143t
25231
3113l 19t
21373l
7511
223371
7611
2l3g3l
312571
23971
11t71d
213l 931l
711138

= 22199t

a2z
a7

el7

)
<

a27
&32
&37
42
47
652
657
6e2
(&3
Gi2
&7
a82
&87
692
&7

702
707
712
717
722
727
732
737
742
747
752
757
762
767
772
777
782
787
792
791

= 2l7l43L

a7t
2232171
a7t
2la31q1
3l11tiot
2379t
72131
213l 1071
ea7l
221631
3273
2l33ql
231zl
2537l
g7t
2l19l31d
3loodt
221731

= 17141t

=2Ll3313L

711011
23gol
31239l
2lig2
7274
223l g1l
11l g7t
2l7l531
323!
24471
7574
olal 1271
13159t
22103l
3171371
21171231
787%
2332111

= 7974

a3
&8
€13

623
&28
633
638
€43
€48
653
658
663
668
673
678
83
88
693
698

703
708
713
718
723
728
733
738
743
748
753
758

768
773
778
783
788
793
798

= 3267J_

2519l
e13!t
213l 103l
7lgot
221571
3219t
2li1qlogl
ca3l
2334
6531
217l 471
313l 17d
221671
13t
2lzl1q3l
ea3t
2443l
33271141

= 21349t

= 19374

223l 591
231311
21359l
312411
2371 131
7331
2132471
7431
22111 174
312511
21379l
71109t
283l
773%
2l3ggl
33298
221971
13te1d

=2lzl7ligl

a4
a9

El4 =
€19 =
=243l 131

c24

€29 =
&34 =
= 232711

639

44 =
€49 =
€54 =
€59 =
cea =
669 =
=2i3371

_ 71 9-7]_

= 2232191
= 13153L

704
709
714
719
724
729
734
739
744

754
759
Tc4
769
774

779 =
_ odp2

= 3log3t
=2l3g7d
= 17ta7d

784
789
794
799

= 241514
= 3t7lz9t

2lag7L
est

17137%
2lz3171

2271 o3l
11156t
213l 109t
e59t
2383l
3loo3l

2lag71

= 31233l

= 267111

= 709t
=2l3lglq7l
=719

= 221811
=36

= 2lz3gt

= 739

= 233131
749 =
=2l13lodl
=3l11t23l
=221911

= 769t
=2l32431

71107t

19t 41l

as =

615 =
620 =
625 =
&30 =
&35 =
©40
€45 =
650 =
655
6a0
665 =
610 =
675
&80 =
&85 =
690
695 =
700 =

705
710
715
720
725
730
735
740
745
750
735
760
765
770
775
780
785
70
795
800

5]. ]J_z

_ olglgl

3l5lgql
225l 311
54
2l32g5lgl
511271

_ o751

315l 43l
215213l

= 511311

5l7l 191
2lsl g71

_ 3852

235l 171
511371

= 2l3tslozl

51139
225271

= 3tsta7t

= 2ts5l711

= 5t11113L
= 5229t

= 2lst7at
_3lglg2

= 225l 37!

= 5tiaot

= 213153

= 5t151t

= 235t 19t

= 325t17!
_olglglqql
= 531!

= 223l 51131
= 5t157!

= 2Ll 79t

= 3ls5lsal

_ o552
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a0l =

De
911
9le
21
926
931
936
941
946
951
956
el
%ee
g1
gle
981
gBe
991
99¢

= 389

2l13l 31l
g11l

243l 171
go1l

217l 501
377t
22111 19t

2132 471
23371
231074
3171411
21433l
13et
223l73l
ga1l
2laa3l
34111

— o791

&

174538
213l 511
o11l
22000l
31307
2lagal
7219t
2332131
o411
2l1ql 431
3317
22239l
312
2l3lglogl
g1l
24611
321p9t
2li7l o0t
gg11

= 2231lg3l

802 =
807 =
812 =
817 =
822 =
827 =
832 =
837 =
842 =
847 =
852 =
857 =
862 =
867 =
872 =
877 =
882 =
887 =
8% =
897 =

02
07
912
917

-
<

o927
932
937
o942
o47
952
957
962
967
972
a7l
982
987
992
997

2La01t
3logst
227l o0l
19t a3t
olal 1371
go7d
26131
3B¥31!
214011
71112
223l 711
g574
2lazgl
31172
23109t
g774
olz3242
gg7L
222031
311323l

= 2L111 471
= o7t

= 243114l
= 71131t

= 2lagd

= 32103L

= 222331

= o371
=2l3l157L
= o7l

= 2371171
=3l11loot
=2liglayt
= 9671

= 2235

= g7t
=2lgogl
=3l7lg71
= 25311

= 9971

803 =
808 =
813 =
818 =
823 =
828 =
833 =
838 =
843 =
848 =
833 =
838 =
863 =
868 =
873 =
878 =
883 =
888 =
893 =
8RB =

203
908
913
918
o923
o928
933
938
943
948
953
958
963
968
973
978
983
988
993
998

p.5

1173t
231011
312711
21409t
g23t
2232931
72174
2lggol
3logil
24531
g53l
2i3l 19133t
ge3l
2271371
332g7l
21439l
g3l
2331371
19ta71
2lagol

= 3l7l43L
= 222271

= 111g3!
=213397L
= 13171¢

= 2529
=3i311!
=27l g/t
= 231411

= 223179l
= 9531

= 2lg79l

= 321071

= 23112

= 71139
=2l3l1g3l
= o83l
=221311d
=3l3311

= 2lg99l

804
809
814
819
824
829
834
839
844
849
854
859
8c4
869
874
879
884

894

899 =

04 =
A9 =
914 =
919 =
24 =
P29 =
934 =
939 =
944 =
949 =
954 =
959 =
964 =
969 =
974 =
g9 =
984 =
989 =
994 =
999 =

=243l g7t
= goot
=2l11l371
= 23271131
= 23103!

= goot

= 2i3l 139l
= 839t

= 222111
=3logal
=27l gl
= g59t
=2°33

= 11179
=2l19l 23l
= 31203l
=22131 171
889 =
= 2l3l 1498

711271

29l31l

2311318
321p11
2las7L
g9t
223l7l1q1
ool
2lagt
31313!
2450l
13173t
2132531
711371
222411
317t 19t
olag7l
11lggt
2331 411
231431
2l7l711
38371

805 = 5i7i23t
810 = 21345l
815 = 5l1a3t
g20 = 225l 411
g25 = 3152111
830 = 2lslgal

835 = 5tig7!
840 = 233l 5Ll
845 = 51132

850 = 2152171
855 = 3251 191
g8en = 225l 43l

865 = 511731
870 = 213l 5logl
875 = 5371

880 = 2451 111
885 = 315l 59l
g0 = 2lslgdl
895 = 5l179t
o900 = 223252

o5 = 5ti1g1d
o910 = 215171131
915 = 315l g1l
o0 = 2351231
o5 = 52371

930 = 2i3lsizgd
935 = 5111t 17d
040 = 225l 471

945 = 335171
o950 = 2152191
955 = 511911
960 = 263lsl
965 = 511931

g0 = 215l g7l
975 = 3152131

980 = 225172
985 = 5l1g71
o990 = 213251111
995 = 51199t
1000 = 2353
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